
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 1st  Day Unit # 1

Q.No.1. Choose the correct option. (0.5 x 6 = 3) Šg„WB»ZN[™,X
 i) The next term of the pattern is:4,12,20,28,36,________

__________36,28,20,12,4 %%%%ääää~~~~ZZZZ‹‹‹‹gggg¶¶¶¶ìììì::::
(a) 40 (b) 42 (c) 44 (d) 46

ii) Identify the rule of pattern: 52,47,42,.......

..........,42,47,52 ŠŠŠŠbbbb‰‰‰‰%%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
(a) adding by 5 ¦™äÐ 5 (b) adding by 4 ¦™äÐ 4

(c) subtracting by 4 ¸&™äÐ 4 (d) subtracting by 5  ¸&™äÐ 5

iii)  The next three terms of the patterns are:100,96,91,85,78,___,___,___

___,___,___,78,85,91,96,100 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSS÷÷÷÷::::
(a) 70,61,51 (b) 70,60,50 (c) 70,61,50 (d) 70,60,51

iv)  Identify the next three terms of the patterns: 50,100,150,200,___,___,___.

._____,____,____200,150,100,50 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&gggg¶¶¶¶VVVVÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
(a) 300,350,400 (b) 250,300,350 (c) 350,400,450 (d) 400,450,500

v) What is the next term of the pattern?         18,90,450 %%%%ääääÅÅÅÅZZZZ‹‹‹‹gggg¶¶¶¶HHHHìììì????
(a) 1 500 (b) 2 150 (c) 2 200 (d) 2 250

vi) Observe the give table and identify the correct rule of the pattern:

ŠŠŠŠbbbb‰‰‰‰××××ÃÃÃÃ̈̈̈̈ggggÐÐÐÐŠŠŠŠBBBBZZZZzzzzggggŠŠŠŠgggg„„„„%%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
        Position 7777iiiicccc     Term xxxxRRRR,,,,

1 10
2 20

(a) Multiplying by 10 ¢[™äÐ 10 (b) Adding by 10 ¦™äÐ 10

(c) Subtracting by 10 ¸&™äÐ 10 (d) All of these tÓx
Q.No.2. Identify the rule of given patterns and also find the next three terms 

(3×2=6)          Šb‰%äÆZßwÅ¶KyŠ„™,XZzgZ‹&gSÌ¥x™,X
i) 352, 176, 88,  ____,_____,_____. ii) 10, 40, 160, 640, _____,____,___.

Q.No.3. Observe the given table and find the rule of pattern. (1×1 = 1)

Š~×̂Ã̈gÐŠBZzg%ä»Zßw¥x™,X
        Position 7777iiiicccc     Term xxxxRRRR,,,,

50 100
100 200
150 300
200 400
250 500

Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 1st  Day Unit # 1

Q.No.1. Choose the correct option. (0.5 x 6 = 3) Šg„WB»ZN[™,X
 i) The next term of the pattern is:4,12,20,28,36,________

__________36,28,20,12,4 %%%%ääää~~~~ZZZZ‹‹‹‹gggg¶¶¶¶ìììì::::
(a) 40 (b) 42 (c) 44 (d) 46

ii) Identify the rule of pattern: 52,47,42,.......

..........,42,47,52 ŠŠŠŠbbbb‰‰‰‰%%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
(a) adding by 5 ¦™äÐ 5 (b) adding by 4 ¦™äÐ 4

(c) subtracting by 4 ¸&™äÐ 4 (d) subtracting by 5  ¸&™äÐ 5

iii)  The next three terms of the patterns are:100,96,91,85,78,___,___,___

___,___,___,78,85,91,96,100 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSS÷÷÷÷::::
(a) 70,61,51 (b) 70,60,50 (c) 70,61,50 (d) 70,60,51

iv)  Identify the next three terms of the patterns: 50,100,150,200,___,___,___.

._____,____,____200,150,100,50 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&gggg¶¶¶¶VVVVÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
(a) 300,350,400 (b) 250,300,350 (c) 350,400,450 (d) 400,450,500

v) What is the next term of the pattern?         18,90,450 %%%%ääääÅÅÅÅZZZZ‹‹‹‹gggg¶¶¶¶HHHHìììì????
(a) 1 500 (b) 2 150 (c) 2 200 (d) 2 250

vi) Observe the give table and identify the correct rule of the pattern:

ŠŠŠŠbbbb‰‰‰‰××××ÃÃÃÃ̈̈̈̈ggggÐÐÐÐŠŠŠŠBBBBZZZZzzzzggggŠŠŠŠgggg„„„„%%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™,,,,::::
        Position 7777iiiicccc     Term xxxxRRRR,,,,

1 10
2 20

(a) Multiplying by 10 ¢[™äÐ 10 (b) Adding by 10 ¦™äÐ 10

(c) Subtracting by 10 ¸&™äÐ 10 (d) All of these tÓx
Q.No.2. Identify the rule of given patterns and also find the next three terms 

(3×2=6)          Šb‰%äÆZßwÅ¶KyŠ„™,XZzgZ‹&gSÌ¥x™,X
i) 352, 176, 88,  ____,_____,_____. ii) 10, 40, 160, 640, _____,____,___.

Q.No.3. Observe the given table and find the rule of pattern. (1×1 = 1)

Š~×̂Ã̈gÐŠBZzg%ä»Zßw¥x™,X
        Position 7777iiiicccc     Term xxxxRRRR,,,,

50 100
100 200
150 300
200 400
250 500

1 1


